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QUESTION 1

Barnes: The two newest employees at this company have salaries that are too high for the simple tasks normally
assigned to new employees and duties that are too complex for inexperienced workers. Hence, the salaries and the
complexity of the duties of these two newest employees should be reduced.

Which one of the following is an assumption on which Barnes\\'s argument depends?

A. The duties of the two newest employees are not less complex than any others in the company.

B. It is because of the complex duties assigned that the two newest employees are being paid more than is usually paid
to newly hired employees.

C. The two newest employees are not experienced at their occupations.
D. Barnes was not hired at a higher-than-average starting salary.

E. The salaries of the two newest employees are no higher than the salaries that other companies pay for workers with
a similar level of experience.

Correct Answer: C

This is an Assumption question, so we will need the answer choice that connects the evidence with the conclusion.
Barnes\\' conclusion is that the salaries and complexity of the duties of these two newest employees should be reduced.
(Conveniently, the conclusion is pointed out by the Keyword "Hence".) Why should they be reduced? Because these
employees have salaries that are too high for the simple tasks normally assigned to new employees and they have
duties that are too complex for inexperienced workers. Can you see what\\'s going on here? By concluding from this
evidence that the two new employees should have their salaries and duties reduced, the author is just assuming that
these two new employees are like typical new employees: they must have simple tasks assigned to them, and they are
inexperienced. But what if that weren\\'t true? What if they have nonsimple tasks assigned to them, or they are, in fact,
experienced workers? Then there would be no reason to reduce their salaries and duties; Barnes\\' conclusion would
not logically follow. So the author must be assuming that they are just like the typical new employee. Once you have this
kind of prephrase in your head, you can attack the answer choices. [The two newest employees are not experienced at
their occupations] is correct because it tells us that the new employees are just like typical new employees in one
important respect--they are not experienced at their occupations.

QUESTION 2

During a single week, from Monday through Friday, tours will be conducted of a company\\'s three divisions --
Operations, Production, Sales. Exactly five tours will be conducted that week, one each day. The schedule of tours for
the week must conform to the following restrictions:

Each division is toured at least once.

The Operations division is not toured on Monday.

The Production division is not toured on Wednesday.

The Sales division is toured on two consecutive days, and on no other days.

If the Operations division is toured on Thursday, then the Production division is toured on Friday.

If in the week\\'s tour schedule the division that is toured on Tuesday is also toured on Friday, then for which
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one of the following days must a tour of the Production division be scheduled?
A. Monday

B. Tuesday

C. Wednesday

D. Thursday

E. Friday

Correct Answer: A

Well're told, in the abstract, that the same division is toured on Tuesday and Friday. Well, don\\'t be satisfied with that.

Make it concrete. Which division is it? Can\\'t be S, since the consecutive "SS" is all we\\'re allowed. Can\\'t be P either,
because " PS S P" would leave O for Monday, a violation of Rule 2. No, the division the question is talking about must

be O, and the insertion of "SS" yields " O S S O." Production\\'s day is therefore Monday.

QUESTION 3

Is it necessary for defense lawyers to believe that the clients they defend are innocent of the charges against them?
Some legal scholars hold that lawyers* sole obligation is to provide the best defense they are capable of, claiming that
in democratic societies all people accused of crimes are entitled to the best possible legal representation. They argue
that lawyers have no right to judge defendants because it is the job of the courts to determine guilt or innocence and the
job of the lawyer to represent the defendant before the court. They believe that the lawyer\\'s responsibility is to state
those facts that will assist each client\\'s case, construct sound arguments based on these facts, and identify flaws in the
arguments of opposing counsel. According to these scholars, the lawyer\\'s role is not to express or act on personal
opinions but to act as an advocate, saying only what defendants would say if they possessed the proper training or
resources with which to represent themselves.

But such a position overlooks the fact that the defense lawyer\\'s obligation is twofold: to the defendant, certainly, but no
less so to the court and, by extension, to society. For this reason, lawyers, great as their obligation to defendants is,
should not, as officers of the court, present to the court assertions that they know to be false. But by the same principle,
lawyers who are convinced that their clients are guilty should not undertake to demonstrate their innocence. Guilty
defendants should not be entitled to false or insincere representation. When lawyers know with certainty that a
defendant is guilty, it is their duty not to deny this. Rather, they should appraise the case as much as possible in their
client\\'s favor, after giving due consideration to the facts on the other side, and then present any extenuating
circumstances and argue for whatever degree of leniency in sentencing they sincerely believe is warranted. In cases
where it is uncertain whether the client is guilty but the lawyer sincerely believes the client may well be innocent, the
lawyer should of course try to prove that the client is innocent.

The lawyer\\'s obligation to the court and to society also ultimately benefits the defendant, because the "best defense”
can only truly be provided by an advocate who, after a careful analysis of the facts, is convinced of the merits of the
case. The fact that every client is entitled to a defense does not mean that defense lawyers should take every case they
are offered. Lawyers should not be mere mouthpieces for a defendant but instead advocates for the rights of the
defendant given the facts of the case.

Which one of the following most accurately expresses the main idea of the passage?

A. Some legal scholars defend a morally questionable view that defense lawyers* sole obligation to their clients is to
provide the best defense, while it is the court\\'s job to determine guilt or innocence.

B. Defense lawyers should put aside personal judgments about their clients\\' guilt when determining how best to
proceed when representing a client.
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C. In a democracy, all persons accused of crimes have a right to an attorney who will state the facts, construct sound
arguments, and identify flaws in the arguments of opposing counsel.

D. Lawyers should be mindful of their duty to society as well as to their clients and base the decision as to whether, and
how, to defend a client on the facts of the case.

E. Defense attorneys are obligated to defend clients who request their professional services, especially when the
attorney is absolutely convinced of the client\\'s innocence.

Correct Answer: D

The main idea of this passage has to be the answer to the question posed at 1st paragraph, and it\\'s a tossup as to
whether that answer is better articulated by last paragraph.

QUESTION 4

Five racing drivers, Alan, Bob, Chris, Don, and Eugene, enter into a contest that consists of 6 races. The
results of all six races are listed below: Bob always finishes ahead of Chris. Alan finishes either first or last.
Eugene finishes either first or last. There are no ties in any race.

Every driver finishes each race. In each race, two points are awarded for a fifth place finish, four points for
fourth, six points for third, eight points for second, and ten points for first.

If Eugene\\'s total for the six races is 36 points, which of the following must be true?

A. Bob\\'s total is more than 36 points.

B. Chris\\'s total is more than 36 points.

C. Alan\\'s total is 36 points.

D. Don\\'s total is less than 36 points.

E. Don\\'s total is 36 points.

Correct Answer: C

If Eugene has 36 points, then he must have 3 first place finishes and 3 last place finishes, because he finishes first or
last in every race. Therefore, Alan must also have 3 first place finishes and 3 last place

finishes for a total of 36 points.

Some of the other options may be true, but none of them are required.

QUESTION 5

Many political economists believe that the soundest indicator of the economic health of a nation is the nation\\'s gross-
national product (GNP) per capita ?a figure reached by dividing the total value of the goods produced yearly in a nation
by its population and taken to be a measure of the welfare of the nation\\'s residents. But there are many factors
affecting residents\\' welfare that are not captured by per capita GNP; human indicators, while sometimes more difficult
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to calculate or document, provide sounder measures of a nation\\'s progress than does the indicator championed by
these economists. These human indicators include nutrition and life expectancy; birth weight and level of infant
mortality; ratio of population level to availability of resources; employment opportunities; and the ability of governments
to provide services such as education, clean water, medicine, public transportation, and mass communication for their
residents.

The economists defend their use of per capita GNP as the sole measure of a nation\\'s economic health by claiming that
improvements in per capita GNP eventually stimulate improvements in human indicators. But, in actuality, this often fails
to occur. Even in nations where economic stimulation has brought about substantial improvements in per capita GNP,
economic health as measured by human indicators does not always reach a level commensurate with the per capita
GNP. Nations that have achieved a relatively high per capita GNP, for example, sometimes experience levels of infant
survival, literacy, nutrition, and life expectancy no greater than levels in nations where per capita GNP is relatively low.
In addition, because per capita GNP is an averaged figure, it often presents a distorted picture of the wealth of a nation;
for example, in a relatively sparsely populated nation where a small percentage of residents receives most of the
economic benefits of production while the majority receives very little benefit, per capita GNP may nevertheless be high.
The welfare of a nation\\'s residents is a matter not merely of total economic benefit, but also of the distribution of
economic benefits across the entire society. Measuring a nation\\'s economic health only by total wealth frequently
obscures a lack of distribution of wealth across the society as a whole.

In light of the potential for such imbalances in distribution of economic benefits, some nations have begun to realize that
their domestic economic efforts are better directed away from attempting to raise per capita GNP and instead toward
ensuring that the conditions measured by human indicators are salutary. They recognize that unless a shift in focus
away from using material wealth as the sole indicator of economic success is effected, the well-being of the nation may
be endangered, and that nations that do well according to human indicators may thrive even if their per capita GNP
remains stable or lags behind that of other nations

The primary function of the last paragraph of the passage is to

A. offer a synthesis of the opposing positions outlined in the first two paragraphs

B. expose the inadequacies of both positions outlined in the first two paragraphs

C. summarize the argument made in the first two paragraphs

D. correct a weakness in the political economists\\' position as outlined in the second paragraph

E. suggest policy implications of the argument made in the first two paragraphs

Correct Answer: E

If your Roadmap more or less paralleled the one we describe above you probably had little problem choosing [suggest
policy implications of...] takes the author\\'s argument about measuring economic health into the real world of nations\\'
economic policy decisions. The debate is wholly tilted toward human indicators ?we\\'ve known that since the 1st
paragraph -so no such "synthesis" as option [offer a synthesis of...] proposes is ever made and the dual debunking
described by option [expose the inadequacies of...] is just that: debunk. If any summary [summarize the argument made

in...] of the argument occurs, it\\'s back in 1st paragraph. And since the author is out to demolish the political economists
[correct a weakness in...], not correct them.

QUESTION 6

One of the most intriguing stories of the Russian Revolution concerns the identity of Anastasia, the youngest daughter
of Czar Nicholas II. During his reign over Russia, the Czar had planned to revoke many of the harsh laws established by
previous czars. Some workers and peasants, however, clamored for more rapid social reform. In 1918 a group of these
people, known as Bolsheviks, overthrew the government. On July 17 or 18, they murdered the Czar and what was
thought to be his entire family. Although witnesses vouched that all the members of the Czar\\'s family had been
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executed, there were rumors suggesting that Anastasia had survived. Over the years, a number of women claimed to be
Grand Duchess Anastasia. Perhaps the best ?nown claimant was Anastasia Tschaikovsky, who was also known as
Anna Anderson. In 1920, eighteen months after the Czar\\'s execution, this terrified young woman was rescued from
drowning in a Berlin river. She spent two years in a hospital, where she attempted to eclaim her health and shattered
mind. The doctors and nurses thought that she resembled Anastasia and questioned her about her background. She
disclaimed any connection with the Czar\\'s family. Eight years later, though, she claimed that she was Anastasia. She
said that she had been rescued by two Russian soldiers after the Czar and the rest of her family had been killed. Two
brothers named Tschaikovsky had carried her into Romania. She had married one of the brothers, who had taken her to
Berlin and left her there, penniless and without a vocation. Unable to invoke the aid of her mother\\'s family in Germany,
she had tried to drown herself. During the next few years, scores of the Czar\\'s relatives, ex-servants, and
acquaintances interviewed her. Many of these people said that her looks and mannerisms were evocative of the
Anastasia that they had known. Her grandmother and other relatives denied that she was the real Anastasia, however.
Tried of being accused of fraud, Anastasia immigrated to the United States in 1928 and took the name Anna Anderson.
She still wished to prove that she was Anastasia, though, and returned to Germany in 1933 to bring suit against her
mother\\'s family. There she declaimed to the court, asserting that she was indeed Anastasia and deserved her
inheritance. In 1957, the court decided that it could neither confirm nor deny Anastasia\\'s identity. Although we will
probably never know whether this woman was the Grand Duchess Anastasia, her search to establish her identity has
been the subject of numerous books, plays, and movies.

Witnesses that all members of the Czar\\'s family had been executed.
A. gave assurance

B. thought

C. hoped

D. convinced some

E. answer not stated

Correct Answer: A

QUESTION 7

Recently discovered prehistoric rock paintings on small islands off the northern coast of Norway have archaeologists
puzzled. The predominant theory about northern cave paintings was that they were largely a description of the current
diets of the painters. This theory cannot be right, because the painters must have needed to eat the sea animals
populating the waters north of Norway if they were to make the long journey to and from the islands, and there are no
paintings that unambiguously depict such creatures.

Each of the following, if true, weakens the argument against the predominant theory about northern cave paintings
EXCEPT:

A. Once on these islands, the cave painters hunted and ate land animals.
B. Parts of the cave paintings on the islands did not survive the centuries.
C. The cave paintings that were discovered on the islands depicted many land animals.

D. Those who did the cave paintings that were discovered on the islands had unusually advanced techniques of
preserving meats.

E. The cave paintings on the islands were done by the original inhabitants of the islands who ate the meat of land
animals.
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Correct Answer: C

In essence we have to find four ways to weaken the argument against the predominant theory, meaning that we have to
weaken the view of the author. He says that the paintings cannot have depicted the diets of their creators, because of
the absence of depictions of sea creatures that would\\'ve been necessary to the painters\\' diets. He doesn\\'t say what
creatures are depicted in the caves, but option [The cave paintings that...] does, and by asserting the predominance of
land animals on the cave walls option [The cave paintings that...] leaves the author\\'s objection untouched at least, and
bolsters it at most.

QUESTION 8

Many great inventions are greeted with ridicule and disbelief. The invention of the airplane was no exception. Although
many people who heard about the first powered flight on December 17, 1903, were excited and impressed, others
reacted with peals of laughter. The idea of flying an aircraft was repulsive to some people. Such people called Wilbur
and Orville Wright, the inventors of the first flying machine, impulsive fools. Negative reactions, however, did not stop
the Wrights. Impelled by their desire to succeed, they continued their experiments in aviation. Orville and Wilbur Wright
had always had a compelling interest in aeronautics and mechanics. As young boys they earned money by making and
selling kites and mechanical toys. Later, they designed a newspaper-folding machine, built a printing press, and
operated a bicycle-repair shop. In 1896, when they read about the death of Otto Lilienthal, the brother\\'s interest in flight
grew into a compulsion. Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the desired
direction. This idea was repellent to the Wright brothers, however, and they searched for more efficient methods to
control the balance of airborne vehicles. In 1900 and 1901, the Wrights tested numerous gliders and developed control
techniques. The brothers\\' inability to obtain enough lift power for the gliders almost led them to abandon their efforts.
After further study, the Wright brothers concluded that the published tables of air pressure on curved surfaces must be
wrong. They set up a wind tunnel and began a series of experiments with model wings. Because of their efforts, the old
tables were repealed in time and replaced by the first reliable figures for air pressure on curved surfaces. This work, in
turn, made it possible for them to design a machine that would fly. In 1903 the Wrights built their first airplane, which
cost less than one thousand dollars. They even designed and built their own source of propulsion- a lightweight gasoline
engine. When they started the engine on December 17, the airplane puffed wildly before taking off. The plane managed
to stay aloft for twelve seconds, however, and it flew one hundred twenty feet. By 1905 the Wrights had perfected the
first airplane that could turn, circle, and remain airborne for half an hour at a time. Others had flown in balloons or in
hang gliders, but the Wright brothers were the first to build a full-size machine that could fly under its own power. As the
contributors of one of the most outstanding engineering achievements in history, the Wright brothers are accurately
called the fathers of aviation.

The old tables were and replaced by the first reliable figures for air pressure on curved surfaces.
A. destroyed

B. canceled

C. multiplied

D. discarded

E. not used

Correct Answer: B

QUESTION 9

A government ought to protect and encourage free speech, because free speech is an activity that is conducive to a
healthy nation and thus is in the best interest of its people.
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The main conclusion above follows logically if which one of the following is assumed?

A. An activity that is in the best interest of the people ought to be protected and encouraged by a nation\\'s government.
B. Basic, inalienable rights of the people ought to be protected and encouraged by government.

C. An activity that helps a government to govern ought to be protected and encouraged by it.

D. A government ought to protect and encourage an activity that is conducive to the interests of that government.

E. Universal human rights that are in the best interest of the people ought to be protected and encouraged by a
nation\\'s government.

Correct Answer: A

This question stem may seem a bit unfamiliar, but hopefully you recognized it as a variation of a standard Assumption
question. We\\'re looking for the assumption that would complete the argument, so again, we need to identify the
argument\\'s evidence and conclusion. The author\\'s conclusion is stated up front: A government ought to protect and
encourage free speech. The Keyword "because" signals the author\\'s evidence, that "free speech . . . is conducive to a
healthy nation and thus is in the best interest of its people."” This sounds like a pretty good argument so far, but it\\'s
missing a subtle step: We know that free speech is in the best interests of the people, but whol\'s to say that the

government ought to act in that interest? It seems obvious, but this notion isn\\'t stated in the argument, and it\\'s
necessary for the argument to work.

QUESTION 10

Always read the meter dials from the right to the left. This procedure is much easier, especially if any of the dial hands
are near the zero mark. If the meter has two dials, and one is smaller than the other, it is not imperative to read the
smaller dial since it only registers a small amount. Read the dial at the right first. As the dial turns clockwise, always
record the figure the pointer has just passed. Read the next dial to the left and record the figure it has just passed.
Continue recording the figures on the dials from right to left. When finished, mark off the number of units recorded. Dials
on water and gas meters usually indicate the amount each dial records.

Always read the meter dials

A. from top to bottom

B. from right to left

C. from left to right

D. from the small to the large dial

E. from the large dial to the small dial

Correct Answer: B

QUESTION 11
On the popular children\\'s television show, there are four little animals that make up the "Creature Buddies" are digitally

animate. Since that means that they can\\'t make a live stage performance, while the Creature Buddies are on tour,
each is represented by a puppet that is operated by a chief and an assistant puppeteer.
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The Creature Buddies are a: Dragon, Gorilla, Kangaroo, and Tiger. The Creature\\'s Names are: Audrey, Hamish,
Melville, Rex

The Chief Puppeteers are: Ben, Jill, Paul and Sue

The Assistant Puppeteers are: Dave, Gale, Pam and Tom

Melville isn\\'t the puppet who is operated by Sue and her assistant Pam.
Hamish\\'s chief puppeteer (who is not Jill) is assisted by Tom.

Ben is in charge of the dragon, but Jill doesn\\'t have anything to do with the kangaroo.
Dave is the assistant puppeteer for the tiger.

Rex, whose chief is Paul, isn\\'t the gorilla (who\\'s name is not Melville).
Which chief puppeteer works with Tom?

A. Ben

B. Jill

C. Paul

D. Sue

E. Rex

Correct Answer: A

QUESTION 12

Many great inventions are greeted with ridicule and disbelief. The invention of the airplane was no exception. Although
many people who heard about the first powered flight on December 17, 1903, were excited and impressed, others
reacted with peals of laughter. The idea of flying an aircraft was repulsive to some people. Such people called Wilbur
and Orville Wright, the inventors of the first flying machine, impulsive fools. Negative reactions, however, did not stop
the Wrights. Impelled by their desire to succeed, they continued their experiments in aviation. Orville and Wilbur Wright
had always had a compelling interest in aeronautics and mechanics. As young boys they earned money by making and
selling kites and mechanical toys. Later, they designed a newspaper-folding machine, built a printing press, and
operated a bicycle-repair shop. In 1896, when they read about the death of Otto Lilienthal, the brother\\'s interest in flight
grew into a compulsion. Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the desired
direction. This idea was repellent to the Wright brothers, however, and they searched for more efficient methods to
control the balance of airborne vehicles. In 1900 and 1901, the Wrights tested numerous gliders and developed control
techniques. The brothers\\' inability to obtain enough lift power for the gliders almost led them to abandon their efforts.
After further study, the Wright brothers concluded that the published tables of air pressure on curved surfaces must be
wrong. They set up a wind tunnel and began a series of experiments with model wings. Because of their efforts, the old
tables were repealed in time and replaced by the first reliable figures for air pressure on curved surfaces. This work, in
turn, made it possible for them to design a machine that would fly. In 1903 the Wrights built their first airplane, which
cost less than one thousand dollars. They even designed and built their own source of propulsion- a lightweight gasoline
engine. When they started the engine on December 17, the airplane puffed wildly before taking off. The plane managed
to stay aloft for twelve seconds, however, and it flew one hundred twenty feet. By 1905 the Wrights had perfected the
first airplane that could turn, circle, and remain airborne for half an hour at a time. Others had flown in balloons or in
hang gliders, but the Wright brothers were the first to build a full-size machine that could fly under its own power. As the
contributors of one of the most outstanding engineering achievements in history, the Wright brothers are accurately
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called the fathers of aviation.

The idea of flying an aircraft was to some people.
A. boring

B. distasteful

C. exciting

D. needless

E. answer not available

Correct Answer: B

QUESTION 13

The autobiographical narrative Incidents in the Life of a Slave Girl, Written by Herself (1861), by Harriet A. Jacobs, a
stave of African descent, not only recounts an individual life but also provides, implicitly and explicitly, a perspective on
the larger United States culture from the viewpoint of one denied access to it. Jacobs, as a woman and a slave, faced
the stigmas to which those statuses were subject. Jacobs crafted her narrative, in accordance with the mainstream
literary genre of the sentimental domestic novel, as an embodiment of cherished cultural values such as the desirability
of marriage and the sanctity of personal identity, home, and family. She did so because she was writing to the free
women of her day ?the principal readers of domestic novels ?in the hopes that they would sympathize with and come to
understand her unique predicament as a female slave. By applying these conventions of the genre to her situation,
Jacobs demonstrates to her readers that family and domesticity are no less prized by those forced into slavery, thus
leading her free readers to perceive those values within a broader social context.

Some critics have argued that, by conforming to convention, Jacobs shortchanged her own experiences; one critic, for
example, claims that in Jacobs\\'s work the purposes of the domestic novel overshadow those of the typical slave
narrative. But the relationship between the two genres is more complex: Jacobs\\'s attempt to frame her story as a
domestic novel creates a tension between the usual portrayal of women in this genre and her actual experience, often
calling into question the applicability of the hierarchy of values espoused by the domestic novel to those who are in her
situation. Unlike the traditional romantic episodes in domestic novels in which a man and woman meet, fall in love,
encounter various obstacles but eventually marry, Jacobs\\'s protagonist must send her lover, a slave, away in order to
protect him from the wrath of her jealous master. In addition, by the end of the narrative, Jacobs\\'s protagonist achieves
her freedom by escaping to the north, but she does not achieve the domestic novel\\'s ideal of a stable home complete
with family, as the price she has had to pay for her freedom is separation from most of her family, including one of her
own children. Jacobs points out that, slave women view certain events and actions from a perspective different from that
of free women, and that they must make difficult choices that free women need not. Her narrative thus becomes an
antidomestic novel, for Jacobs accepts readily the goals of the genre, but demonstrates that its hierarchy of values does
not apply when examined from the perspective of a female slave, suggesting thereby that her experience, and that of
any female slave, cannot be fully understood without shedding conventional perspectives.

According to the passage, Jacobs\\'s narrative departs from the conventions of a typical domestic novel in which one of
the following ways?

A. Jacobs\\'s protagonist does not ultimately achieve her freedom.
B. Jacobs\\'s protagonist does not wish for the same ideals as the protagonists of domestic novels.
C. Jacobs\\'s protagonist does not encounter various obstacles in her quest for love.

D. Jacobs\\'s protagonist does not ultimately achieve the ideals of home and family.
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E. Jacobs\\'s protagonist does not experience the stigmas to which women and slaves were subject.
Correct Answer: D

The purview of this Detail question is 2, for it is there that the tension between the domestic novel genre and what
Jacobs made of it is explored. Starting with "Unlike the traditional...", we see that Jacobs\\'s protagonist fails to win the
ideals of family and domesticity that were a given at the end of the conventional domestic novel.

QUESTION 14

The village of Vestmannaeyjar, in the far northern country of Iceland, is as bright and clean and up-to-date as any
American or Canadian suburb. It is located on the island of Heimaey, just off the mainland. One January night in 1973,
however, householders were shocked from their sleep. In some backyards red-hot liquid was spurting from the ground.
Flaming "skyrockets" shot up and over the houses. The island\\'s volcano, Helgafell, silent for seven thousand years,
was violently erupting! Luckily, the island\\'s fishing fleet was in port, and within twenty-four hours almost everyone was
ferried to the mainland. But then the agony of the island began in earnest. As in a nightmare, fountains of burning lava
spurted three hundred feet high. Black, baseball-size cinders rained down. An evil-smelling, eye-burning, throat-searing
cloud of smoke and gas erupted into the air, and a river of lava flowed down the mountain. The constant shriek of
escaping steam was punctuated by ear-splitting explosions. As time went on, the once pleasant village of
Vestmannaeyjar took on a weird aspect. Its street lamps still burning against the long Arctic night, the town lay under a
thick blanket of cinders. All that could be seen above the ten-foot black drifts were the tips of street signs. Some houses
had collapsed under the weight of cinders; others had burst into flames as the heat ignited their oil storage tanks.
Lighting the whole lurid scene, fire continued to shoot from the mouth of the looming volcano.

The eruption continued for six months. Scientists and reporters arrived from around the world to observe the awesome
natural event. But the town did not die that easily. In July, when the eruption ceased, the people of Heimaey Island
returned to assess the chances of rebuilding their homes and lives. They found tons of ash covering the ground. The
Icelanders are a tough people, however, accustomed to the strange and violent nature of their Arctic land. They dug out
their homes. They even used the cinders to build new roads and airport runways. Now the new homes of Heimaey are
warmed from water pipes heated by molten lava.

The color of the hot liquid was

A. orange

B. black

C. yellow

D. red

E. gray

Correct Answer: D

QUESTION 15

Zoos have served both as educational resources and as entertainment. Unfortunately, removing animals from their
natural habitats to stock the earliest zoos reduced certain species\\' populations, endangering their survival. Today most
new zoo animals are obtained from captive breeding programs, and many zoos now maintain breeding stocks for
continued propagation of various species. This makes possible efforts to reestablish endangered species in the wild.

Which one of the following statements is most strongly supported by the information above?
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A. Zoos have played an essential role in educating the public about endangered species.

B. Some specimens of endangered species are born and bred in zoos.

C. No zoos exploit wild animals or endanger the survival of species.

D. Nearly all of the animals in zoos today were born in captivity.

E. The main purpose of zoos has shifted from entertainment to education.

Correct Answer: B

This is an Inference question. Because the right answer must be supported by statements in the passage, you should
avoid answer choices using extreme language. There usually won\\'t be enough information in the passage to support
choices that speak in terms of "all" or "every" or "never". Only option [Some specimens of endangered species are...] is
supported by the passage, specifically the last two sentences of the paragraph. The stimulus tells us that zoos maintain
breeding stocks for continued propagation of various species, and that this makes possible efforts to reestablish

endangered species in the wild. Therefore, you can infer that some (though not all, or even most) specimens of
endangered species are born and bred in zoos.
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